% % B IR OEH

#Hl: A5 237
(-10y° =2 = 9 +(=5) =
(-10)° = (-3) = (-1 -2=
(-3)* +(-9) = 1°+6=
10-8 = 10° —9 =
5% +(-6) = 10% + (—8) =
D)= (D= (=7) +(-2) =
(=6’ = (-7) = 6>+ (~7) =
(3)—(5) = 4+(-2) =
7 +6= 8 — 1=
(=5)° +(=6) = 8 +7=
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A AICG: A7
(—10)° —2 = (-1002) 9% +(—5) = 76

(=10)° = (=3) = (-997) (-1)’ =2 =(-3)
(—=3)? +(-9)=0 P+6=7

10-8=2 10° —9 =991

52 +(—6) = 19 10> + (-8) = 92

(-1’ = (-1)=2 (<7)° +(=2) = (-345)
(—6)* — (-7) = 43 6>+ (=7) = 29

(-3) = (-5)=2 4+(-2)=2

7 +6 =349 8 —1=>511

(—5)° + (—=6) = (—131) 82 +7="71

www.snowmath.com


https://www.snowmath.com

